Problem statement:

You are required to construct AVL tree from the following data:
15,18,12, 8,54,5,14,13,9,61,20,17,21
By inserting (5) and single right rotation following shape will be form:
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By inserting 13 and rotation following shape will be form:
[image: C:\Users\Rana Toqeer\Downloads\2.jpg]
By inserting 9 and rotation following shape will be form:
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By inserting 61 and rotation following shape will be form:
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By inserting 21 and rotation following shape will be form:
[image: C:\Users\Rana Toqeer\Downloads\Untitled Diagram(1).jpg]
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